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ﬁﬁ%ﬁ@%(@-m-f-%) 1.47 1.47

i 1.22 | 2.47 | 2.88 | 6.57

BTl & T 3 HEFEHFE T B (B2 - 2n) 0.5 0.5 1
2 B EMAZE T (Bl - ) 0.5 0.5 1
HWEEMIIIE T (B2 ILIE) 1 1 2

BRI (WEHEERY 0.11 0.44 | 0.55

HH EMAFIEIV (PEHEEE) 0.11 0.44 | 0.55

HREEREY (S F e @) 1.47 1.47

it 1.22 2.47 2.88 6.57

R E B OB 2 HEEMIFZFE T B (BZ - 200 0.5 0.5 1
7 HBEEMIIE T (Blgg - 2) 0.5 0.5 1
HEFEHAFIE N (B2 A0 9E) 1 1 2

HEFEMAFIEI (RHEHEFEE) 0.11 0.44 | 0.55

HEFEHMRIV (PEHEFFE) 0.11 0.44 | 0.55

HORSEEEE (Sh /- &) 1.47 1.47

&t 1.22 2.47 2.88 6.57

FREHEZ| 3 0 & 1 ey ] 0. 04 0. 04
2 HEEMAFZE 1 B (Bl - 20) 0.5 0.5 1
HBEEMAIZE T (Blgg - 2) 0.5 0.5 1

WA - ATEAEEED 0.03 0.06 | 0.09

WA - ATERHEEIEB 0.11 0.11

B FHAFIE I (B2 AR 9E) 1 1 2

BEMFEIN (WEHEEE) 0.02 0.05 | 0.07

HOREEREY (S F e @) 1.47 1.47

gt 1.05 2.51 2.22 5.78
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